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Q. V0.04 + 1/0.49 + V1.44 + v/0.0225 %1 A BT 2
Q. What 1s the value of v0.04 + v0.49 + v1.44 + v0.0225?

(1)
2.10
N2)
215
(3)
225
(4)
2 50

https://t.me/mahendrasmissionteaching




PV 2ToT CTET/ STET 2023

[Practice Questi

AT fehaaT 872

Q. TF FATH o A7 AT FAR AT AHAEF) 180
2,150 #12 3017 120 &2 21 5T 71

Q. The area of three adjacent faces of a

——=cuboid gre 180 cm¥ 20 cm?
%3 haL e\‘?og w7 X (1) 1600
= 1So T /Cm

= (M7 :
o as
d 7L & % s
/ = ¢ ) 1800
—_— 2 ) = 7oK

@ L66=1ox2x & e

https://t.me/mahendrasmissionteaching




1T 2Tor CTET / STET 2023 |[Practice Ques

Q. 20000 9TH F * for
6066, 6606 =T 6006 * AT

o T STIET ST AT ?
Q. What should be added to

the s m g)é6066 6606and
60066 O ?

+ 6 ooléle ——
W%OOD

/.

/ >
1322

(2)
1311

(3)
1333
(4)
1344

5t

https://t.me/mahendrasmissionteaching




[Practice Questi

P (V5 +V3)
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(3) (V8 +v3)
(4) (V2 ++3)
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Q. Titu's salary in 2020 is Rs. 2,59,600. His salary for
2018 has risen annually by 10% and 18%
respectivelyto reach Z(E%s@@}ﬂgures What-was—
his safaryit
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Q. Saurabh bought two articles for Rs.1,200
each. He sold one art|cle at 8% proflt and the
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Q. A sum of money amounts to Rs 1200 in 4
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Q. Difference between the least common
multiple of 9, 12 and 15 and the least
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Q. What is the ratio
4 meters 20 cm, \i% 7-Q
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